Economics for CED

Problem Set #2 Answers

1., 2. and 3. Correct answers are provided as you answer the questions online.

4. This question is from Prof. Stephen Marglin’s Social Analysis 72 class, problem set #1, question 3: The Budget Constraint. 

1.  Johnny has $100 to spend on pizza and soda, both of which he likes.  

Soda sells for $5 per bottle, and pizza sells for $20 per pie.  (Johnny lives in Manhattan.)  Draw Johnny’s budget constraint, labeling it BC1. 

2.  Suppose that a wave of civil disobedience compels soda merchants in Manhattan to cut their prices to $2.50 per bottle.  Draw Johnny’s new budget constraint, labeling it BC 2. 

Answer:

After the price change, the first Budget Constraint line, BC1, will pivot upwards, resulting in BC2, which intersects the vertical axis not at 20 liters of soda, but at 40 liters of soda, since the same budget can now afford twice as much soda, given that the price fell by half. Of course, you can only afford twice as much soda if it is only soda that you are consuming. If you consume only pizza, you will still only get 5 pizzas. So both BC1 and BC2 intersect the horizontal axis at 5 pizzas. Note that the graph below is not accurately to scale in terms of the slopes of the lines, but it shows the essential features.
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5. This question is from Prof. Stephen Marglin’s Social Analysis 72 class, problem set #1, question 4: Indifference Curves.
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1.  The graph above shows three of Johnny’s indifference curves and his budget constraint.  On which of the indifference curves depicted above would Johnny prefer to be, if he did not have any budget constraint? 

Johnny would prefer to be on IC3, given that it is the highest possible indifference curve depicted, and ignoring the budget constraint.

2.  On which of the indifference curves depicted above could Johnny be, feasibly? 

Johnny could feasibly be on IC1 or IC2, given the budget constraint line depicted. Now, on IC1, he could be at any point between point B and the intersection of the IC1 line with the budget constraint on the lower part of the IC curve. Any point that is on, or below, the budget constraint line is *feasible* for Johnny. Likewise, IC2 is feasible, but only at one point, Point C, at which the curve is tangent to the budget constraint line.

3.  Is Johnny indifferent between consuming at point B and point C?  Explain your answer using the concept of Marginal Rate of Substitution. 

First, Johnny is NOT indifferent between consuming at Point B and Point C. While both points lie on his budget constraint line, and are therefore feasible, they are not both optimal. Point C is optimal, whereas B is not. Because IC2 is tangent to the budget constraint line at Point C, then the slope of the budget constraint and the slope of the indifference curve are equal at that point. So, the marginal rate of substitution (MRS) which is the slope of the indifference curve, is equal at that point of tangency to the slope of the budget constraint line, which is the ratio of the prices. So that means that the MUsoda/MUpizza =Psoda/Ppizza. Rearranging the terms, we find that the marginal utility per dollar spent on pizza must equal the marginal utility per dollar spent on soda at that point C. This is optimal. The basic point here is that C is optimal because no rearranging of the pizza or soda consumption can put Johnny on a higher indifference curve.
